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Zone d'impact : Surface de sol minimale requise
— 70Ne d'impact
= = === Espace libre

Zone d'Inpact Sol souple Zone d' Inpoct Sol fluent
Irpact Area Wetpour Irpact Area Loose particle moterial
Area de Impocto Arenero

Fallraun bei synthetischem Fallschutz Fal lraun bei losen Bodenmaterio
1 1,20m 18,5m?
Espace libre
/®/ ____ Free Spoce @\ 2 1,20m 22mz2
Espacio Libre
Freiroun

Espoce de dégagenent
Space release

|

f.=,-

71
6,1

3

Point de Référence
Setting Out Point
Punto de referencic
Bezugspunkt

WO e o

01h30 0.11m3 185m2 125kg  30kg 2002-06-05




